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Attempt All Questions:

1- The shown structure is made of a thin triangular steel sheet[[of E = 200
GPa, v = 0.25 and thickness t = 12 mm., and connected by a pin joint to
the steel member[Z)that is also pinned at joint 3.

The structure is loaded as shown.

Treating the structure as compased of a single constant strain triangular
element/Tand a truss element]2] you are required to:

i- Develop the stiffness matrix of each element in global coordinates
ii- Assemble the stiffness matrices to obtain the total structure matrix
iii- Apply the boundary conditions and solve for the displacements

iv- Determine the stress components in both elements

2- The shown member is loaded by a distributed load w= 8N/mm on half the
beam made of steel. Dividing the beam to two elements:
i- Develop the stiffness matrix for the structure
ii- Apply the B.C. and solve for displacements at point@
iii- Determine the reactions at()and®)
iv- Plot the internal reactions diagrams over the whole length of the beam
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